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A

DIRECTIONS: (Question No. 1 to 3) From among the five
doctors 1, 2, 3, 4 and 5, four engineers G, H, K, L and six
teachers M, N, O, P, Q and R, some teams are to be
selected. Of these 1, 2, G, H, O, P, Q are females and the
rest are males. The formation of teams is subject to the
following conditions:

Wherever there is a male doctor, there will not be a female
teacher. Wherever there is a male engineer, there will not be
a female doctor. There shall not be more than two male
teachers in any team.

fte € m nit ft d tr,t fem k
tt her ndt engineer ,ten Ntef W ing

Tt re i kex e t

1) 1,2,K,L,P,Q 2 1,2,G,H,P,Q
3) 1,2,G,H,0,Q (4 O,P,G,H1,2
ftetm nit ft d tr,treefemn k

tt her ndt engineer ,tentemem er f
tett m re

(1) 3,4,0,P,Q,G,H @ 1,2,0,P,Q G H
(3) 3,4,KL,0,P, 4) 4,5,G,H,0,P,Q

Q
fte € nit ftred tr,t n k
engineer ndt t tler ,tentemem er f
tet nm uld e

(1) 3,4,5 K L M N 2 1,2,3,K,L,M,R

3) 3,4,5KLPR 4 1,2,H,M,R,P,Q
Xygen di wvered vy

(1) Priestly (2) Boyle

(3) Scheele (4) Cavendish

hih Art ke fte n twtn f ndi re trit
urt n t t in uire int r eeding f

rliment
(1) Article 122 (2) Article 120
(3) Article 123 (4) Article 119

A er n b W edi u iiedf r eing mem er f
eitert ue f rlimentihel di u Ilified
under ent heduk Under ent feduk te
er n t WMedi u lfiedf xf- M ingre n

(1) If he holds any office for profit
(2) Ifis an un-discharged insolvent
(3) If he is of unsound mind

(4) On Amefection

hih ftef M ingi lyminer I
(1) Garnet (2) Olivine
ite (4) Hornblende
h given ¢ Ken t rd t te
nbin fFFA rkd u

(1) Paul Pogba (2) Manuel Neuer
(3) James Rodriguez (4) Lionel Messi

I

J

e (we @ 1 & 3) frfefaa o S 1,2, 3, 4, w@
5, IR A G, H, K, L T3 ©: e M, N, O, P, Q @@ R
T8 W F T B TR T 1,2 G, H,0,P,Q
H%agﬁwaﬁ%gwaqaﬁrﬁﬁwﬁwﬁmaaﬁ%mﬂq
B Bl

S A P JEY ST o af Ao Qe T8 er 99 | #i
J&Y SR & @ His Ao Sl el erm R o dw
A § SR gEy e T8 e

gy & § ) Sy, & Afean s wd ar e 2, ar
e g a9 g99 & R
L

(1) 3,4,5 K, L, M, N ) 1,2,3,K L MR

(3) 3,4,5K,L PR (4) 1,2,H,M,R,P,Q

Siferie 1 @t fpem il

1) e () &

@) @« (4) FRFe"

AR G F B-A1 TS d9e & drared J

IBAT8 A & [ SR Ha 8

(1) g 122 (2) = 120

(3) argeRE 123 (4) STIBT 119

o ARe 9% $ Al f 95T W Ge" W ®H B

A B AR 3@ Eqdl AIGH B FEA FE W

fan R Twdl TggEl % TdW e B T BT |

STRY HIRX fear sam:

(1) 3R T8 R THER T F OGS ©

(2) 3R T& F® Rarfern &

(3) 7Rk g fofera 2

(4) TA-TT@ B MR W

=1 & & B9 it @t *7

(1) A (2) NeirarE

(3) H3AKIES (4) =TS

Fra fasa @y H YT B AEX W B “Teed

ge @R famn

(1) 9 greT (2) dgeT JIW

(3) o= Al (4) feaRT aed
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hih figurere re ent tereltin i et een
g n, udrilter 1 ndtingk

(1) @ @
) @)

i en te nm
Atdnt en

(1) Pacific Ocean
(3) Arctic Ocean

nljinh te

(2) Indian Ocean
(4) Caspian Sea

A ndid tget t vt ut fttlvt nd
he Iy m rgin f v tlv & nd
vt lkdfrek ttd ndid tt rere e tively
(1) 800, 432 (2) 600,168
(3) 600, 432 (4) 830,576
Al ni in tefm f re tngk i ving it
ide intert he re ftel ni
metre Findtelkngt ftel n
(1) 20m (2) 30m
(3) 25m (4) None of these
brB n b i u, ngl htrvn,t u r
ulent im o th ok houb on” o idti
(1) Prithvi Raj Chauhan (2) Chandbardai
(3) Birbal (4) Tansen
ett e me te firtever erftt
re met n med huryum  v-
er imeng fi i mi in vy
(1) ISrRO (2) ESA
(3) NASA (4) FKA & RKA

B A nd "B A unmit ill efeldin

(1) Unilateral initiative, Brasillia

(2) Bilateral initiative, Tshwane

(3) Trilateral initiative, Newm

(4) Joint initiative of 4 nations, Kabul

A re tngulrfield i urrunded vy f ur emi
irulrfl er ed ftekngt nd re dt f
tefied re m nd n re e tively,find te
t friing tefl er ed ttert f
- erl m=

(1) Rs.623.56
(3) Rs. 1306.24

(2) Rs. 326.56
(4) None of these

hen tree in re t ed tgeter, te
r ilityt t I in # vete mef ei
) 14 ) 1/6
3) 1/3 (4) None of these

I

ettt & & S-a1 o g9, ag4s ofk Biesl &

T P I B
@

@ &
®) 4)

?&rwﬁwwmﬁ%wﬁﬁw
?

(1) 9T HEEFR (2) &< HEErR

(3) STHeH TETHIR (4) BHENTT FREFR

T Tl H FA AA B4 T Al © AR a8
Al B IR Q@ ofiadl 81 % HG q9T T qensh B
m@qﬁfaﬁmaﬁwz%

(1) 800, 432
(3) 600, 432

(2) 600,168
(4) 830, 576

AFT H AHER F Th @ e o F g A
B B TR B AW B T ST HIA?
(1) 20 #iX (2) 30X

3) 25 Hiex (4) T q FE T

IR T A T, I T @, AT FW G 8,
T TH Al - T& HAT HEEH 7

(1) g U AR (2) TREE
(3) SREd (4) T&Ea
SR buryum v- er imenk  AM® FHEC

(geeq 1) T% UgER AN geel SHARE A S 4@
e o &:

(1) ISRO
(3) NASA

(2) ESA
(4) FKA Td RKA

(1) TH-9Eig qed, siieerar

() v veaq, =

(3) BT veq, T fawh

(4) = T B HIH Ted, B

% FEAER HeM AR HAE g dmnE @ f
BN 2 AR e A TR o AeR AW AL O
qAdw -t fe d g @ FRE d Im
H BT @ e (n= )
(1) ®.623.56
(3) &.1306.24

(2) ®.326.56

(4) 3 & FiE T

99 99 4% % 9 9B W 2, @ o R 3 ad

@ AN P Gl @ enll:
1) 1/4 @) 1/6
@3) 13 @) T q #g T

[APT-01



A rding t te rld inve mentre rt ,
rek ed vy A in une, ,ndi 1t

rnking f m t fwvured de tin in fr
inve ment ytrnn tinl r rtni

(1) Fourth (2) Third

(3) Second (4) First

r njy jrm t et n ured it rid

Fod rie, forii
in r vement f

(1) Paddy crop

(3) Vegetable varieties

ut tnding o in

(2) Wheat crop
(4) Soyabean crop

A oum f gener & m und
intere t in ye r, ntere t eing m unded

nnu Iy hert f m undintere ti
(1) 20% (2) 2.5%
(3) 10% (4) 5%

tl eight f xe i b g " x eigl
bogm oret n Y ox te ™ x eigh b
gm ret n " x te eightf * xi
(1) 36kg (2) 17 kg
(3) 18kg (4) None of these

men nd y rking — 4% ur dy n
d r in dy f nem n n eult

y ,tentenum er f 'y re uiredt el
men t d tiete rin dy ring
"our  dy ill e

(1) 42 2) 44
(3) 46 (4) None of these
redimeter fte feelf ri mH
m nyrev btn illitm fet t vel k'm
(1) 24200 (2) ~30000
(3) 50000 (4) 42500
+  Ax=  Findx
(1) 361 (2) 400
(3) 441 (4) 484
Al b rert nB utmu b tlert n i tetlk t
nd i Ktk rert nA 1 ited ret
1 A (2 E
3 C 4 D
I Vi ie e V i everefum ndie e
nd een de I red I Iie K mergen y
y H I viu thke itnmefrm

(1) Fruit of a democratic republic of congo

2) Catholic nun in congo
River in democratic republic in congo

(4) Animal in democratic republic of congo

I

I, 0 4 B OSE # B g faw
yideed & FYER, W% IR Ul & RE aR g @
o waiftes AebE wa # WeT § IRA F1 waiE
T ¥ B
(1) e
(3) T
. g [ERM #@ a-wE q g
ST T & gaR § Iap @ ford fEr o B

(2) =1
(4) v&T

(1) 99 F HEA (2) ¥ @ T
(3) wfswEr & e (4) QEEN # HEd
® - g8 ¥ fuPm = s - ST e

%WWWH@WWW%@W
oS B TR

(1) 20% ) 2.5%
(3) 10% (4) 5%
e & b R B 3EN 9 wed |

FA R
b TRl St W B e S gER @ 9

fbe o1 A B1 TR S @ WK @

(1) 36 fat () 17 fear

@) 18 fee 4) T q FE T

JeY Ud  ded Whed - €C B B S B
B fr & @@ a2 AR @ A A TSH B
TER FE HCT 8, FF B H yiaRT &
GG I o B B GG & B S (52 B T G|
TSHl Pl SMAFHAT TS ?

(1) 42 (2) 44
(3) 46 (4) T 4 FR T

TF HX B URY & AE  GHL Bl fepelt. @t g
T | g8 o Tt amam?

(1) 24200 (2) 30000
(3) 50000 (4) 42500
+ = x ® M A B
(1) 361 (2) 400
(3) 441 (4) 484

A B ¥ Bl AT { U T R §EY @l e
Cn ST B B BN Hed B §

1 A () E
@ C (4) D

TSI IERE T TH HIHE AWG T 2 U faed @
T 3N 3 dfes @R umemH Rufa St
foRaT TN SEIT AERE B AW fhad forar T

(1) SSIEE O BN B TH B

(2) P § up Ffers Ao

(3) TS IO HN Pl Th Aol

(4) YSIIEE TOE B H T AEX
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f ute te me rt’ rte te me
e t,ten H t ill et e me

(1) South east (2) North west
(3) North east (4) South west

ni m nydifferent y telkter fte rd
' AL* n e rrnged t tte v el
I vy metgeter

(1) 720 (2) 480
(3) 144 (4) 360
men nre field in dy hen 1 uld

men k ve te rn,ifte I kfiedi t e
re edin dy fterteyk vete r

(1) 6 days (2) 3days
(3) 5days (4) 4days

e e lid here fte me ie rem de
y melting lid met Il ylinder f e
dimeter m ndileight m hedimetr f
e here i
(1) 2cm (2) 3cm
(3) 4cm (4) 6cm
here re even lur in rin in rdulr

e uen e Beide tekn n e uen e in b
m ny ter ik vy nrin ef med
yre- e uen ingte lur

(1) 5040 (2) 5041

(3) 5039 (4) 5049

e differen e et een te kngt nd re dt f
re tngki m fit erimetri m,ten it
re i

(1) 2520 m (2) 2480.m

(3) 2420m (4) None of these

he wver ge f num er i e ver ge f
fte enum er i I ti te verge fte
rem ining num er

(1) 12 2 6

() 8 (4) 10

ix f miie A,B, , , , ndF re living in
" ue in r B h F nd neigh ur ,
h A nd neigh  ur A d e n tlive next
t eiterF r -, de n tlivenextt h re
F' nextd rneigh ur

(1) Band E (2) Band D

(3) BandC (4) Only B

foon hii led ebi, ebii led Mum i,
Mum Qi led ebr dun, ehrdun i led
g ur nd g uri Ikd Meerutt en therei

te t y fndi
(1) Meerut (2) Dehradun
(3) Nagpur (4) Mumbai

I

Ffe SfoTgd, ‘U BT &1 STRgd, ‘UREd gl & ar
ufem @ ame

1) aRre-gE (2) FTR-IREH

(3) ST (4) =ferr-uftem

frm fafe ol @ o= ¢ ALY B SR @l
ZaRed fHaT ST HhaT & dlie @Y T3 Uh a1 eqa?

(1) 720 (2) 480
(3) 144 (4) 360

M Uk O B FeE T F A od B oTEH
R B TA I E, AR R B B B T & &
S B @ e R AR 3 one) F S T &
(1) 6fRa (2) 3 f=
(3) 5= (4) 4 &=

Far M. B, W T O & R & oW
A ST T T TAb W BT A BN
@ 2 &4 ) 3 .
3) 4 & 4) 6 .

0% =gy d fRl 99w ogem # w9 W ¥ §W
APHA B SAIRD TN & G STFH B (e e

R Fegy H T 8 T 6
(1) 5040 (2) 5041
(3) 5039 (4) 5049

TF AT H qEE A AR B A R HieX 2
I 3 afvet Hex B, @ 39H &% &

(1) 2520 m (2) 2480 m

(3) 2420 m (4) = | FE T
gegelt # M|d B 3 gegel ¥ demetl &

frd 21 9§ et & ofga Fr 27

(1) 12 (2 6

(3) 8 (4) 10

B IRaRA,B, , , ,WF G HAR A WH ®®

FB HUEH uwhr d HUSHE A T DA
TRAF AMRITIE IPTFAA@ML D T
T 78 R F B % 9 A yer &
(1) BT E (2) BT D
(3) BT C (4) %99 B

A A F R F@r o &, Rl B g w@r S
2, T8 & JeUgd &l S 8, JeUgd & ANYT &
ST W QY H NS F@T G & A I d

Zfear @l 27
(2) U

1) e
(3) YR @) g==
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fM AL ritten M LA b i
I B " ritten i & t de

(1) BUSJETC (2) BUSTCTE
(3) BUSJTCE (4) BUJSCTE

Ininfinnemihitr nn un ed t etu n

ex enditure M n gement mmi in in te
unin udget Inin vt re ently
de ided t int fed fteex enditure
M n gement mmi in

(1) Vimal Jalan
(3) K.P. Geethakrishnan

(2) Vijay Kelkar
(4) Parthsarathi Shome

Arjun 1 Arvind’ r ter i 1 Arvind’

m ter [ O | w fter M M i
rt 1’ m terH Arjuni reltedt M I

(1) Grand Son (2) Great Grand Son

(3) Son (4) Cannot be determined

n ert in de d ndg di ritten
ot ndn ne'i ritten "nd t ti
d i ritten " H uld g d e
rittn in &t t de

@ 9 @ 3

3 2 (4) 20r3

ikte dd ne ut

(1 E @ 1

B A (4 H

ek tte uit E lem tvet tfytereltin i
Art Antr t n er

(1) Disease (2) Capricorn

(3) Population (4) Equator

Findte rngnum erinte erie

(1) 406 (2) 604
(3) 657 (4) None of these
ek t te h ie t trereent te given

num erte et

(1) NPNRRRS
3) NNPQQRS

(2) ABCDEFF
(4 ABCDDDC

heeutrde n t trugh hih fte
f M ing untrie
(1) ‘Kenya (2) Mexico
(3) Indonesia (4) Brazil
H m-ny untric remem er fte AA
rg ni @n
1) 10 @ 9
(4) None of these

I

g W AL” @ ¢ M LA fomEm oar B o 39
He H B " @ @ foraEr SrReme

(1) BUSJETC (2) BUSTCTE

(3) BUSJTCE (4) BUJSCTE

g & Tolc ¥ d99 3 fag-9= ¥ =g geee
SN & WU & MUOM & B G GERR 3 ofH &

& § Y g N H G H gD
& fota for:

(1) fme s (2) fooa et
@) 3.4 TeageE (4) Tl am

T oRfaR H AR B SRR A W @ B W
@it 1 far 31 s B A A 31 A B S &
T HeY 87

@) 9= (2) gsUA

k) ™ (4) fraiRa =&t & o g
o g Fe d ¢ d ndg d@® ¢ ferEr S
gt ndn one’ @®C  fEr @ @ SR ‘b ti

d’H ¢ R AT A g d R SH RS A
39 e

(1) 9 2 3
Q) 2 (4) 2913
ffofed § @ o[ & g

1) E @ 1
(3) A 4 H

T B EE B AN el [ B g
EREECIC I I Gl IR U

@) | (2) TH

(3) STEE (4) e @

FEar 7 Taq G Twan|
(1) 406 (2) 604

(3) 657 (4) 38 q BE T

39 fameq &l g1 S @ g3 dew & wEas gl
&l B

(1) NPNRRRS (2) ABCDEFF
3) NNPQQRS (4 ABCDDDC

frefeied fhe 39 @ e Jan T8 o o

(1) F (2) D

(3) MR (4) sSi

o 39T G GeT B Hew 27

(1) 10 2 9

@) 8 (4) T 9 i3 T
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47.
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50.

51.

52.

53.

54.

55.

56.

TECHNICAL APTITUDE

Joule cycle is used in:

(3) Petrol engine

(2) Steam turbine
(4) Diesel engine

Which one of the following is a boiler mounting?

(3) Economiser

(2) Super heater
(4) Chimney

Mixing of fuel and air in case of diesel engine

occurs in:

(4) None of these

(1) Fuel pump
(3) Injector

Rotary compressor is used in those cases where:

(2) Low discharge rate at high pressure is required
(3) Low discharge rate at low pressure is required
(4) None of these

When shear force at a point is zero, then bending
moment at that point is:

ili Zero

Transverse fillet welds are designed for:

(2) Compressive strength
(3) Shear strength
(4) Bending strength

(2) Minimum
(4) Infinity

A kinamatic chain having ‘n’ number of links will
have:

(3) (n-2) inversions

(2) (n-1) inversions
(4) (n-3) inversions

A belt can transmit maximum power when the
total tension is:

(1) Equal to the centrifugal tension

iZi Twice the centrifui]al tension

(4) Four times the centrifugal tension

The included angle of V- belt varies from:

(1) 10° to 20° (2) 20° to 30°
(4) 50° to 60°

Manganese in steel increases its:

(1) Tensilestrength (2) Hardness

(3) Ductility (4) Fluidity
The formula to find the drilling time to drill a plate
of thickness =Tis __where, F =feed, N=rpm, is:

(1) T /D x N=time (2) N/D x t=time
(4) T xfx N=time

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

[A-6]

A W TgH Nl &

(1) g eEiET d (2) &9 e&iET §
(3) U g & (4) ot go F
e & § SF-91 TF SEaR weieT 8¢
(1) Tl T (2) gR &R

(3) FPRMREST @) Pt

39 g9 § 399 O ag H feT gfed BN e
1) w9 o F (2) 3o fawey §
(3) FToiFeY H (4) 8 q B T
goifa i o aamelt & Wy A ® SRn

(1) 7 T8 R S=a FEERer X 1 STasEshdT B 8
(2) 3= T9 W T R &Y @ STasEsdr B ®
(3) 1 T@ W = R X eTaseRdr Bt ®
@) 78 ¥ FE T

W T g W SAUEN g9 g Al &, O 39 g W
e oot B

1 == (2) A
(3) SAfErRa™ (4) o=
TP fhde I oTfreivad R o §:
(1) T« A &

(2) THifeq a9 & @
(3) UEUY TEeA & fid
(4) s 99 & )

‘n’ HEAeT arll Hedl I Th HEAMCH o9 J B

(1) n gopH (2) (n-1) gopH
(3) (n-2) FebH (4) (n-3) gobH

;%WWSWWWW%W@W
(1) AYHH T & TR
(2) B! T B G
(3) UH=! A HI fFAT
(4) FUH= T B AT

V-3 H afrafera o7 gfafda 2 2
(1) 10° § 20° (2) 20° ¥ 30°
(3) 30° ¥ 40° (4) 50° & 60°

T ¥ T gorar © 59
(1) T« am (2) R
(3) T (4) T

AR IRl UF QT H 9 F T i 960 B B
W%miﬁzT%—ﬁﬁF:W,Nzrpm,%I

(1) T/D x N=time (2) N/D x t=time
(3) T/fx N=time (4) T xfx N=time
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58.

59.

60.

61.

62.

63.

64.

65.

A key that has curved bottom to match the shaft.
This key is known as :

(1) Sunk key
(3) Flat saddle key

(2) Feather key

Which of the following can be used to scribe lines
parallel to the edges of a part?

(1) Vernier calipers
(2) Divider

(4) Screw gauge

During a refrigeration cycle, heat is rejected by

the refrigerant in a:

(4) Expansion valve

(1) Compressor
(3) Evaporator

The metacentric height is the distance between the:

(1) Centre of gravity of the floating body and the
centre of buoyancy
(2) Metacentre and the centre of buoyancy

(4) None of these

For the same diameter and thickness of tube, a
water tube boiler compared to a fire tube boiler
has:

(2) Less heating surface
(3) Equal heating surface
(4) Heating surface depends on other parameters

A ball of mass 1kg moving with the velocity of
2m/s collide directly with another stationary ball
of mass 2kg and comes to rest after impact. The
velocity of second ball after impact is:

ili Zero (2) 0.5mis

(4) 2.0mls
Section modulus Z is expressed as:

@) E/l
(4) El

@3) M/

Maximum shear stress in a Mohr’s circle is:

(2) Greater than radius of Mohr’s circle
(3) Less than radius of Mohr’s circle
(4) None of these

Which of the following pattern allowances is
known as negative allowance:

(1) Shrinkage allowance (2) Draft allowance

(4) Machine allowance
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Internal or external tapers on a turret lathe can be
turned by:

(1) Face turning attachment

(2) Taper turning attachment
(3) Sliding attachment

(4) Morse Taper attachment

In uniform channel flow, if the hydraulic radius be
increased from 8m to 27 m, the flow will change by:

(1) 27/8 times ) (27/8)"* times
(3) 1.5times (4) None of these

A pitot tube is used to measure the velocity at a
certain point in a water pipe. The differential
pressure noted across pitot tapping is 1.962
kg/cmz. The velocity of water in pipe is:

(1) 1.962 m/sec (2) 19.62 m/sec
(3) 9.81 m/sec (4) 4.905 m/sec

In the case of a beam supported at both ends, if the
same load instead of being concentrated at the
centre, is distributed uniformly throughout the
length, then deflection in the centre will be reduced:

(1) 1/2 times (2) 1/4 times
(3) 3/4times (4) 5/8times

If the moment on a beam is increased three times,
then to keep the stress in the beam same, the
sectional modulus should be:

(1) Increased 3 times
(2) Increased 1.5 times
(3) Decreased 3 times
(4) Increased 6 times

The unit of a lathe which houses the lathe spindle
and control levers for speed selection/is called a:

(1) Head stock (2) Tail stock
(3) Feed box (4) Carriage

If | be the length of job, d is diameter, f the feed,
and n the spindle speed, then time for turning the

job is equal to:
(1) Vdn 2) lnf
(4) nf/l

(3) dinf

Average cutting speed in machining cast iron by a
single point cutting high speed steel is:

(1) 6 m/mt (2) 11 m/mt

3) N (4) None of these

A tool used in cutting an external thread is called
a:
(1) Twist drill (2) Tap

ie (4) End mill
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The least count of a metric vernier calliper having
25 divisions on the vernier scale, matching with
24 divisions of main scale (1 main scale division =
0.5 mm) is:

(1) 0.05 mm (2) 0.01 mm

(4) 0.001 mm

The included angle in Acme threads is:

(1) e0° (2) 55°
(4) None of these

The impact strength of a material is an index of
its:

(2) Tensile strength
(3) Hardness
(4) Fatigue strength

For a given compression ratio, to reduce the
tendency to knock in an S | engine:

(2) The spark plug may be located farthest from the
exhaust valve

(3) A quiescent combustion chamber with slower
flame propagation rate may be used

(4) Organic nitrites may be used in the fuel

Exhaust gas recycling in the Sl engine is used to
reduce:

(1) The unburned hydrocarbons in the exhaust
(2) The CO in the exhaust

(4) The soot emission from the engine

Stream lines, path lines and streak lines are
identical for:

(3) Unsteady flow

(2) Uniform flow
(4) Non-uniform flow

The boundary layer is formed as the flowing fluid
comes in contact with the solid surface, because
of the action of:

(1) Surface tension
(2) Forces of adhesion

iSi Force of iraviﬁ acting on the fluid

An impulse hydraulic turbine:

(1) Always operates while submerged completely in
water

(2) Makes use of a draft tube

(8) Converts pressure head
throughout the vane

into velocity head
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The mass flow through a convergent — divergent
nozzle is maximum when the pressure at:

(1) Exitis equal to the critical pressure
(2) Exitis less than atmospheric pressure
(3) Throat is equal to the exit pressure

Casting defect developing due to inadequate

venting is:

(4) Hot cracks

(1) Inclusions
(3) Cold shuts

Tool life in the case of a grinding wheel is the
time:

(2) Taken for the wheel to be balanced
(3) Taken between two successive wheel dressings
(4) Taken for a wear of 1 mm on its diameter

For achieving a specific surface finish in a single
point turning the most important factor to be
controlled is:

(1) Depth of cut
(2) Cutting speed

(4) Tool rake angle

A Dynamometer is a device used for the

measurement of:
(1) Chip thickness ratio

(3) Wear of the cutting tool
(4) Deflection of the cutting tool

Climb milling is chosen while. machining because:

(1) The chip thickness increases gradually
(2) It enables the cutter to dig in and start the cut

iSi The siecific iower consumition is reduced

In blanking operation the clearance provided is:

(1) 50% on punch and 50% on die
(2) Ondie

(4) On die or punch depending on designer’s choice

The blank diameter used in thread rolling will be:

ili Equal to minor diameter of the thread

(3) A little larger than the minor diameter of the
thread
(4) A little larger than the pitch diameter of the thread
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In centreless grinding, the work piece centre will be:

(1) Above the line joining the two wheel centres

(2) Below the line joining the two wheel centres

(3) On the line joining the two wheel centres

(4) At the intersection of the line joining the wheel
centres with the work plate plane

Which one of the following operations is carried
out at the minimum cutting velocity if the
machines are equally rigid and the tool work
materials are the same?
(1) Turning
(3) Boring

(2) Grinding
(4) Milling

Single point thread cutting tools should ideally
have:

(1) Zero rake
(3) Negative rake

(2) Positive rake
(4) Normal rake

A grinding wheel of 150 mm diameter is rotating
at 3000 rpm. The grinding speed is:

Q) 7.5t m/s (2) 15t m/s
(3) 45t mls (4) None of these

In turning operation, the feed could be doubled to
increase the metal removal rate. To keep the same
level of surface finish, the nose radius of the tool
should be:

(1) Halved
(3) Doubled

(2) Kept unchanged
(4) Made four times

Cemented carbide tools are usually provided
with:

(1) Positive back rake angle

(2) Negative back rake angle

(3) Zero rake angle

(4) None of the above

Normalizing of steel is done by:

(1) Leaving in the open yard for six months to two
years

(2) Heating below critical temperature followed by air
cooling

(3) Heating atNmperature followed by air
cooling

(4) Heating above critical temperature followed by
furnace cooling

Which of the following surface
processes needs no quenching?

hardening

(1) Induction hardening
(2) Flame hardening
(3) Nitriding

(4) Case carburising
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The cupolais used to make:

(1) Pigiron (2) Castiron
(3) Wrought iron (4) Steel

In drop forging, forging is done by droping:

1)
)
@)
(4)

The work piece at high velocity

The hammer at high velocity

The die with hammer at high velocity

A weight on hammer to hammer to produce the
requisite impact

Which of the following is not considered a basic
parameter for arc welding?

(1) Current (2) Voltage
(3) Pressure (4) Welding speed

Which of the following is not a typical defect of
flat rolling?

(1) Edge cracking
(3) Wavy edges

(2) Centre cracking
(4) Bulging
Dimpled fracture surface forms during:

(1) Ductile fracture
(3) Fatigue fracture

(2) Cleavage fracture
(4) Brittle fracture

Plain carbon steel containing 0.1 wt% carbon is
suitable for case hardening by:

(1) Flame hardening
(3) Pack carburizing

(2) Induction hardening
(4) Nitriding

The material used for coating the electrode is
called:

(1) Protective layer (2) Binder

(3) Deoxidiser (4) Flux

Ultrasonic machining method is best suited for:

(1) Brittle materials
(3) Plastics

(2) Stainless steel
(4) Lead

The specific gravity of liquids is usually measured
by means of a:

(1) Hygrometer
(3) Piezometer

(2) Thermometer
(4) Hydrometer

Which of the following has least percentage of
carbon:

(1) Malleable iron
(3) Stainless steel

(2) Pigiron
(4) Wrought iron

Surface roughness on adrawing is represented by:

(1) Triangles (2) Circles

(3) Squares (4) Rectangles
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Lathe centres are provided with standard taper
known as:

(1) Chapman taper
(3) Morse taper

(2) Seller's taper
(4) Jarno taper

Profile of a gear tooth can be checked by:

(1) Sine bar
(3) Optical projector

(2) Optical pyrometer
(4) Slip gauges

In a micrometer if ‘o’ (zero) graduation of the
thimble is above the datum line, when the faces
are in contact, the error is

(1) Zero
(3) Positive

(2) Negative
(4) Not defined

Two forces of 30 N and 40 N are acting at 90° to
each other, the resultant force is

(1) 70N (2) 35N

(3) 20N (4) None of these

A double start thread has a pitch of 4 mm. The
lead of the thread is
(1) 8 mm
(3) 4mm

2 mm
None of these

(2)
(4)
The lead screw of a lathe has

(1) Single start 2)
(3) Multi-start 4

threads.

Double start
Any one of these

100°C is equivalent to

(1) 100°F (2) 212°F

(3) 180°F (4) None of these

The limits of size of a shaft are 29i0'03 mm. The
size of go gauge is

(1) 29.03 mm (2) -29.00 mm

(3) 28.97 mm (4) All of these

Thread angle of BSW thread in degree is

(1) 55 (2) 60
(3) 475 (4) 29

The rivet is made of

(1)
)
®)
(4)

The difference between dry bulb and wet bulb
temperature increases as air:

Brittle material‘
Ductile mat&
Hard material
Magnetic material

(1) Becomes wetter

R) MS drier

(3) Atmospheric temperature rises

(4) Atmospheric temperature decreases
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